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- Activity 3.5 — Piecewise Functions

© f(0)=1

() lim f(x)= DNE

() lim f(x)=2

©) lim f'(x)= DNE

Xx—>-1

() lim f'(x)= DNE

() = 2x—6, if x<-1
@ g00=1, if x> 1
(b) Set 2(-1)-6=a togeta=-8; set (—1)>—6(-1)+5=(-8)(-1) + b to getb = 4.
a=1/2; b=8
. (@ f(-3)=6 (b) f(-)=-2
@ f@=2 (e) f(5)=-2
(@ Ilim f(x)=-2 (o) Ilim f(x)=0
x—>-1" x—-1%
(d) lim f(x)=2 (e) lim f(x)=2
x—1" x—1"
(9) No (h) Yes
2x, if x<-1
f'(x)=4 1 if —1<x<l1
-1 if x>1
(@ lim f'(x)=-2 (b) Ilim f'(x)=1
X—>-1" x—-1"
(d) lim f'(x)=1 e) lim f'(x)=-1
Xx—1" x—1t
(9) No (h) No
. (a) The function f is not continuous on [-3, 3].
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() J._33 f (x)dx = .[:;(xz —3)dx + J.fl(x +1)dx + I13(3— Xyax=8+2+2=2



